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Four alternatives are given for each of the following questions / incomplete
statements. Only one of them is correct or most appropriate. Choose the correct

alternative and write the complete answer along with its letter of alphabet.

10x1=10

The British Governor General who introduced Subsidiary Alliance is
(A) Warren Hastings (B) Lord Wellesley
(C) Lord Dalhousie (D) Lord Cornwallis.

The programme launched by the Government of India in 2001 to provide free

education for children between 6 to 14 years is
(A) National Literacy Mission (B) Sakshara Bharat
(C) Sarva Shiksha Abhiyan (D) National Adult Education.

In Group-A list of leaders and in Group-B countries are given. Identify the

group that matches.

Group-A Group-B
(@) Lenin (i) China
(b) Hitler (i) Russia
(¢) Mussolini (ii) Germany
(d) Mao-tse-Tung (iv) Italy.
a b c d
(A) i ii iv i
B) i ii iii iv
(C) iv i ii ii
(D) iii iv i ii.

The headquarters of UNO is located at
(A) New York (B) Paris

(C) Rome (D) Geneva.
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S. The Article of the Constitution of India that prohibits child labour is
(A) Article-21 (B) Article-17
(C) Article-52 (D) Article-24.

6. The exact matching of the marked types of forests in the map is

(A) 1 — Mangrove forests, 2 — Desert forests, 3 — Evergreen forests
(B) 1 — Evergreen forests, 2 — Mangrove forests, 3 — Desert forests
(C) 1 — Mangrove forests, 2 — Alpine forest of Himalayas,

3 — Evergreen forests
(D) 1 — Desert forests, 2 — Evergreen forests, 3 — Mangrove forests.

7. The number of satellites successfully launched by India to have its own local

GPS is
A) 3 (B) 5
(C) 6 (D) 7.

8. Indirect Tax among the following is
(A) Income Tax (B) Import-Export Tax

(C) Wealth Tax (D) Corporate Tax.
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9. Bankers’ bank is
(A) Vijaya Bank (B) Canara Bank
(C) Reserve Bank of India (D) Corporation Bank.

10. The achievement of Verghese Kurien that earned him the name ‘The Father

of White Revolution’is the

(A) Establishment of Apollo Hospitals
(B) Establishment of Jet Airways

(C) Establishment of Reliance Company

(D) Establishment of Amul Milk Dairy.
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Four alternatives are given for each of the following questions / incomplete
statements. Only one of them is correct or most appropriate. Choose the correct

alternative and write the complete answer along with its letter of alphabet.

10x1=10

1. The Bank Account that is best suitable for businessmen is
(A) Savings Bank Account (B) Current Account
(C) Recurring Deposit Account (D) Term Deposit Account.
2.  ‘Prohibition of Dowry Act’ was passed in the year
(A) 1961 (B) 1987
(C) 1988 (D) 1989.
3. Direct tax among the following is
(A) Central Excise Duty (B) Personal Income Tax
(C) Service Tax (D) Foreign Travel Tax.

4. In Group-A list of entrepreneurs and in Group-B enterprises established by

them are given. Identify the group that matches.

Group-A Group-B
(@) Azim Premji (i) Biocon Ltd.
(b) Dr. Pratap Reddy (i) Jet Airways
(¢) Kiran Majumdar Shah (iii) Wipro Technologies
(d) Naresh Goyal (iv) Apollo Hospitals.
a b c d
(A) v i ii iii
B) i ii iii iv
(C) iii iv i ii
(D) ii iii iv i
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5. The type of soil which is largely found in Rajasthan is
(A) Alluvial soil (B) Desert soil
(C) Red soil (D) Laterite soil.

6. The Minto-Morley Reforms of 1909 laid the foundation for the partition of

India, because it

(A) abolished the Dual Government

(B) established a Board of Control

(C) nominated Indians to the working committee

(D) formed a separate electoral constituency based on religion.

7. The exact matching of the marked places in the map is

(A) 1 — Amritsar, 2 — Guwahati, 3 — Hyderabad
(B) 1 — Guwahati, 2 — Hyderabad, 3 — Amritsar
(©) 1 — Hyderabad, 2 — Amritsar, 3 — Guwahati

(D) 1 — Allahabad, 2 — Hyderabad, 3 — Amritsar.
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8. India successfully supported Nelson Mandela because
(A) India called Nelson Mandela as African Gandhi
(B) Indian foreign policy is against Apartheid policy
(C) India is a leading member of the U.N.O.
(D) India follows N.A.M.
9. We observe 10th December as ‘Human Rights Day’ because
(A) Abraham Lincoln abolished slavery on 10th December, 1865
(B) Nelson Mandela was released from prison on 10th December, 1993
(C) U.N.O. declared Universal Human Rights on 10th December, 1948
(D) India declared Fundamental Rights to its citizens.

10. Principles of Swarajya and Swadharma advocated by Dayanand Saraswati

inspired people to

(A) establish classless society

(B) fight against Sati and child marriage
(C) take part in the freedom movement

(D) bring educational reforms.
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